Maths Knowledge Organiser

Factors and Multiples Powers Fractions Rounding and Estimating
Factor A number that The factors of 18 are: Square The number you get 1, 4,9, 16, 25, 36, Fraction A mathematical 7 53 ‘proper’ fraction. Rounding To make a number 74 rounded to the
divides exactly into 1,2,3,6,9,18 MNumber when you multiply a | 49, 64, 81, 100, SXpression representing simpler but keep its nearest ten is 70,
another number number by itself. 121, 144, 169, 196, Fhe division of ones & is an ‘improper’ or value close to what it because 74 is closer to
. . imteger by another. 4 Was. 70 than 80.
without a The factor pairs of 18 225... “top-heavy’ fraction.
remainder. are: 9% =9 x93 Fractions are written as If the digit to the right 152,879 rounded to
1818, 2&9,3&6 =81 two numbers of the rounding digit is the nearest thousand
It is useful to write Square Root The number you V36 =6 separated by a less than 5, reund is 153,000
factors in pairs multiply by itself to horizontal line. down.
Highest The biggest number | The HCFof6and 9is 3 get another number. | because 6 X 6 = MNumerator The top number of |n:hefran-mn§,3i5 If the digit to the right
Common that divides exactly | because it is the biggest 36 fracticn. the numerator. of the '0“""’“"5 digitis 5
- - - or more, round up.
Factor into two or more number that divides The reve_rse process Denominator The bottom number of In the fraction 5} S iz T —— e e T
[(HCF) numbers. into 6 and 9 exacthy. of squaring a a fraction. he d _ 5 Ff g e 372,
- - - - the denominator. the right of a decimal the 7 is in the second
Multiple The result of The first five multiples number. Unit Fraction A fraction where the T 11 ] .
o — .7 efc. are point. decimal place.
multiplying a of 7 are: Cube Number The number you get 1,8 27,64, 125... numerator is one and 2'z"4 e of uni
" exampiles unit
number by an when you multiply a 2B=2x2x2 the denominator is a ch':ic-pns 0.372 rounded to two
integer. 7.14,21,28,35 number by itself and =8 positive integer. ’ decimal places is 0.37,
The times tables of itself again. _ because the 2 tells us
a number. Cube Root The number you V125=75 Mixed Number | A number formed of 2Zis an example of a to round down.
Lowest The smallest The lCM of 3, 4and S is multiply by itself m;"‘ af"' integer part mixed number. ]
Common number that is in the | 60 because it is the and itself again to because 5 X 5 x e ;’_‘ : ':“'"" part. — :E'ffulwﬁhfr;;zev-
Multiple times tables of each | smallest number in the get another number. | 5 = 125 implifying vide the numerator —=— dentwrits £27.3,
LCM f th b 34 45 ti bl Fracticns and denominator by 45 =] instead write £27.40
[ ) G_ the numoers - an tumes tables. Th the highest common Significant The significant figures of | In the number
Even. = reyerse process factor. Figure a number are the digits 0.00821, the first
of cubing a number. Equivalent Fractions which which carry meaning (ie. | significant figure is the
Primes Powers of._. The powers of a The powers of 3 Fractions represent the same are significant) to the 3.
Prime Mumber |& number with exactly [The first ten prime number are that are: value. size of the number.
two factors. umbers are: number raised to =3 - - In the number 2.740,
& number that can only Various powers. 32 -9 CDm'_:'E"ng To compare fractions, The first significant the Ois nota
he divi _ 33 — 27 Fractions they each need to be figure of a number significant figure.
e divided by itself and 2,3,5 7,11,13,17, 5 rewritten so that they b
9 CAMnmg e Iero.
one. 19,23, 29 37 =81 etc. have a cominmon
" " — - r ry i - 0.00821 rounded to 2
i Multiplication | When multiplyin Tix 72 =78 ; Equivalent:
Th.E numbfzr lisnot Ind IJL ith th P v:] & 12y g — g2® denominator. 2 8 E.i In a number with a significant figures is
prime, as it only has one neex Law with the same hase qoxa=a- 2hiz' 1zl decimal, trailing zeros 0.0082.
factor, not two. (number or letter), dx® ¥ 2x% = Bx Ascending means Lza s are not significant.
Prime Factor |A factor which is a prime [The prime facters of 18 add the powers. smallast to biggest. Comect order .o ot 19357 rounded to 3
number. are: significant figures is
m mn T+ Descending means
arE gl =a 19400. We nead to
2.3 Division Index | When dividing with 157 = 157 = 15° — :_'Edg‘i:t “L’c‘;q"“'f"::- — include the two zeros
L S INg or n e o e = at the end to keep the
5 ¥ xt=x A - Z 4=
Law the same base 20 11 . =. 3 Subtracting denominators to find a 3 + digits in the same
Simplifying [n:;nbetr chr letzer), = fag Taa Fractions commaon denominator. | Multiples of 3:3, 6, 3, place value columns.
: P— P— P subtract the powers. = ]
xtimes x The answer is x° not Sql.._la ring is multiplying p Use _equnralent ;’3. I1_5-|- e 10 Estimate To find something close | An estimats for the
2x. by itself, not by 2. m n men fracticns to change ultiples of 5: 5, 10, to the comect answer. height of a man is 1.8
prpxp |Theanswerisp® not | If p=2, then a_—a =a each fraction to the 15.. metres.
3 o Brackets Index | When raising a (y5)* =41 common denominator. | LOM of 3and 5 =15 — -
Ip po=2x2x2=8, not 2x3=6 F ol T e Then i - . 2_1o_ s 1z Approximation | When using 348 + 692
p+p+p The answer is 3p not | If p=2, then 2+2+2=6, Laws powertoanr.Jther _':f 3;' =6 1 :nju“: or 3T EETE approximations to 0.526
r? not 2% = 8 power, multiply the (5x%)" = 125x subtract the estimate the solution to - 300 + 700 — 2000
powers together. numerators and keep o 2 =7 a calculation, round 0.5
- the denominator the 15 ' 15 15 15 each number in the o
Factorls.mg (@™ = g™ same. calculation to 1 Nat_e that dividing by
Factorise The rev:arse of 6x — 15 =3(2x — Notable — 1 999999 — 1 significant figure. 0.5 is the same =s
expanding. 57, where 3 is the Pu— r - multiplying by 2’
Factorising is writing | comman factor. Powers p =1

an expression as a
product of terms by
‘taking out” a
common factor.

% means ‘approximately
equal to'




